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TR Tlme 3 hrs @ Max. Marks: 100

Note Answer any FIVE full questmns, c{%ﬁ%w g ONE full quevtron_ﬁ‘o each module,

g £ 4Module-1 ¢

4 1 a Compare DBMS and early file sy§tgms” brmgmg out the ma,j vantages of the database

: approach, (06 Marks)

3 b. With a neat block diagram, g:(g the architecture of a typ al DBMS, (10 Marks)

§ c. What are the responsibii;gjg;:e%f,o he DBA and the da%e designers? (04 Marks)

g ?w, OR f}

z, 2 a. Define the followgl_g terms : 2 1

by i) Data model %@ tSchema  iii) Inst gnge. ~iv) _Canned Transaction. (08 Marks)
b. Draw an ER dlag__r}im to represent the Eéleéfmqn Information System based on the following

description, %, ¢ Qs

In the Igd’rﬁa&ﬁatlonal election, a state s dmded into a number of constituencies depending
upon thie*population of the state. §‘§veral candidates contest elections in each constituency.

Candldﬁles may be from some garty’or independent. lection information system must
record the number of votes obtaiied by each candidate, The system also maintains the voter
list and a voter normally I?éclong‘s to a particular co,ni{h ency. P
Note that the party detazl;;gust also be taken ¢ e design. ﬁ (12 Marks)
_ ) Mod ﬁz
3 a. Define the following Herms: i) Key Super key %Candldate key
iv) Primary k@tfw’*f V) Forengn k (05 Marks)
b. Enumerate th%;stbbs involved in i‘reﬁ‘tmg the ER cogstructs to corresponding relational
tables. {3 Po (07 Marks)
c. Considering ‘the schema €% -

Sailoys:(§id , sname , rating }"‘a%) %@J
Boat?(g_ bname , colof)
Reserves (sid , bid daﬁ ; A

fﬁMute relational algg 1r,Qrguc@guerles for the,ff’él §ng
} Find names of'sajlors who have reserved boat # 103.
*ii) Find names Ogailors who have resérved a red boat.
iif) Find names: ﬁf sailors who ha¥; %served a red or green boat.

“1‘5

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

iv) Find nqﬁeﬁ"’of sailors who ﬁav; ‘reserved all boats. (08 Marks)
v ¢ OR
4 a. Explain with examples %?é‘fbasxc constraints that can be specified when a database table is
created in SQL. (12 Marks)

b. Write SQL quernes fo&the following relational schema :
CUSTOMER (CH , CNAME , EMAIL , ADDR , PHONE)
ITEM (ITEM NGOy ITEM_NAME PRICE BRAND)

SALES (CID 3 M NO, #ITEMS AMOUNT , SALE_DATE)
SUPPLIER (SID , SNAME , SPHONE SADDR)
SUPP[@?(»SID ITEM_NO, SUPPLY DATE , QTY)
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i) List the items purchased by customer ‘Prasanth’. ¢ i

ii) Retrieve items supplied by all suppliers starting ﬁgrﬁiﬂ%ﬁan 2019 to 30" Jan 2019.

iii} Get the details of customers whose total purchas_éw g’f%itéms worth more than 5000 rupees.
iv) List total sales amount, total items , average ;@&lefai;ﬁbunt of all items.

v) Display customers who have not purchaseq{ggggb; ems. (08 Marks)

el

Moditle. Ay Loy
a. What are assertions and triggers in @ “ﬁ; Write a SQL program@ﬁ oHeate an assertion to
specify the constraint that the salary,of aif employee must not be, gi€ater than the salary of
the department. The employee wglg%r in the COMPANY database. (7 Marks)
b. Write a trigger in SQL to callf&gj *;e"d procedure INFO@@{:B’PERVISOR( } whenever a
new record is inserted or updag@ check whether an employee’s salary is greater than the
salary of his or her direct sﬂbe@isor in the COMPANY database. . (07 Marks)
c. How do you create a view 4n SQL? Give examplggRCan you update a view table? If yes,
how? If not, why not?%féﬁ‘ss. P :&:« {06 Marks)
L | Sl -
' %:? OR_ ¢
a. With real world€ mples, explain the follcﬁf& g: iy JDBC iiy Correlated queries
iif) Stored ,}{{Qageé%re iv)’ Schema ijiﬁﬂ‘ 2 statements in SQL. (12 Marks)
b. Write a ¢dmpjete high level language pfogram (in Java or C) to display the rows of a
customgé%% fe created in oracle - daving < custid , custname , balance > columns with
embegdded . - £ 8
%‘z‘% QL "éf ;’% 4 (68 Marks)
S S F
s  Module-4 & {‘éﬁ%’" s
a. What are the problems ca%;%%c; by insertion , upgafg)ﬁh and deletion %no‘%%ﬁﬁes? Discuss with
an example. “ gy s L {06 Marks)
b. For the below given re%ﬁtign R{A, B, C, D—;*;@laﬁd its instance , check whether the FDs
given hold or not. Give reasons. S, " %
D A>B _ iflB—C i) DB (04 Marks)
ATB.FC |DIE]| . B%
a | B e di]e
al b e | dif e
s S ARIRIrIE .
%@Lﬂﬂ}]ag by oy | difeen | ‘ &
¢. Usigg the minimal covg’?%%%)'rithm , find th¢fminimal cover for the following FDs :
B={AB-—-C,A—=D —C,D—BGYAE—F }. 10 Marks
g%@{ %.@ B } ( )
ot F%f?;:’“j . YOR
a. Normalize thgb@ioa; relation upto INE :
g% ¢ ’ Moduld| Dept | Lecturer | Text
: M1 D1 L1 T1
D1 L1 T2
D1 L1 T1
DI L1 T3
D1 L2 T4
D2 L3 T1
D2 L3 T5
D2 L4 T6
(10 Marks)
¢ 2 0f3
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Define Multi valued Dependency and Join Dependéh_dy. Explain 4NF and 5NF with

examples. (10 Marks)
Module-5
Describe the database inconsistency problems : Lost update , dirty read and blind write.
g b T (06 Marks)
With a neat diagram, explain the variousstates of a transaction exeqﬁtion'. (07 Marks)
Check whether the below schedule is conflict serializable or not. 7
(b2, r2(X), bl , r1(X) , wi(X), r1(Y); wi(Y), w2(X), el, cl, €2, c2}. (07 Marks)
OR |
What is 2PL? Explain with an example. (06 Marks)
How do you detect a deadlock during concurrent transaction execution? (06 Marks)
Explain the various database recovery techniques, with-examples. (08 Marks)
k ok ok kK o
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